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Rec. Insert Tolerance 

Went back through my notes and calculations on the hole pq~~i~n.s, theoretically you were correct with 
tolerance calculations. The formula is (Min hole dia minus 1YiijJ~l~@;~::$~~f:!.W diameter)/2 equals the 
positional tolerance for both holes. If you run the numbers thisw~fW!ili~ij!~••Pe (.169-.163)/2= .003 
positional Lolerance for both holes. The nun1bers I used for lhe c~.1.?.HJ~~~~~~::W:f:e .175-.163/2= .006 
positional tolerance. The reason for the .175 dia which .qq;~r.~f!f$:0:~~:Jt;f:fti*r~:it hole diameter in the rec. 
insert support, knowing it is to be a stamping, the punc~:.w~~:1tj~e iiiade to the max dia to allow for wear 
but based on the small volumes of the M/71 o it will be 'iltM~:':\@!!:'~#(ore we wear punches. Therefore, I 
figured the parts would be toward the max side of the.tolerance; ;:tfui;!)!Mr note I had was that typically 
screws are nominal to min on the major diameter. s1fal\1t would piiMi@ii\litra clearance as well. The 
last note I had was that the clearance in the safetyJ~~~fand .. ~~~~ retainin~{Pin would allow for additional 
tolerance in the rec insert support fit up, thus the ;99~ posiJ@j;al tole@;iee for the screw hole in the 
receiver. 

/:::::::::::::::::>:>:: ):::::::::::·· ::::::::::::r 
so you are correct, if you assume an .008 positioti~qgWM~!!JorJ&lh of the holes, the hole dia in the 
insert should be .182 +/-.003, which would .185C'i'W#;J:!~~"!fiametral clearance, which would be 
excessive? If we tighten up the positional hoi·e<dl~:Weter tolerances, we can officially mate 
in all instances. We'll talk monday. ... 
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